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o M- GIBEANAEH IS S
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OAEZEHl S Xl 55,337
0 REANZ 2FMIANE FRE+
47,000,000& 47,000
o Mt MEBEAAHE RXE= 8,337,000& 8,337
401 A& HIZ 201 Y] 653,906 530,000 123,906
01 A& HI 650,000 526,400 123,600
ol-g & 52 500,000, 000& 500,000
OMHUHBEANE RANES X 20,000,000 20,000
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OZHAXN T o E3d Sg Jl
4,500,000,000& *99.77% 14,466,650
= 7,233,325
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< 2,916,000
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101 @124l 3,120 7,012 A 3,892
04 JIZHHZ2Z2XNSE+ 3,120 7,012 A 3,892
OGtEIJIEH EH 2 3,120
oJlE=a 130,000% & 3«8 3,120
201 Let2d] 66,678 67,364 A 686
01 At 2teltl 13,028 13,714 A 686
Oget=ZH| 4,428
oot FRF& 3,120,000& 3,120
OHA U S BUEK ZHHI £42
300,000& 300
ootd&EH MYIIsE + 138,000& 138
ootEAMNEZ DXNAH R0 100,000& 100
oolEAEE LM EEE E5F
100,000& 100
o MEHEotA =HIMN ==
30,0003 *3IH 324 270
o BRME SI==2 100,000& 100
0o BRMA BHREY U SI| 242
300,000 300
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O= &l 3,000
ootdze HEFA 3,000,000& 3,000
[ DN = 5,000
ootd A AGHE ML+ Ul X
5,000,000& 5,000
02 =224l 53,650 53,650 0
O3323LAA 38,650
o FEA BEZR2E HIRZB 28,650,000 28,650
o0 EAE =HEAE IS
5,000,000& 5,000
o REA JIsE ¥ RIS
5,000,000& 5,000
OAN&EEl =Xl 15,000
o HE2 JtsE , =2 ESAIL
15,000, 000& 15,000
206 = Hl 2,000 2,000 0
01 M2 4l 2,000 2,000 0
Ootd JI8H Mg ¢ 1,000, 000& 1,000
O=ZZA =8 S ¢ 1,000, 000& 1,000
401 A& BIZ 201 8] 2,558,640 1,400,000 1,158,640
01 A& HI 2,550,000 1,390,460 1,159,540
Ootd SAE (X6, AGHE)
400,000, 000& 400,000
OGtd SteE=4 (X6t , AGHE)
300,000, 000& 300,000
OA0EEH SEHEHE 9
500,000, 000& 500,000
OXotE oS (FEAL 40HA)
100,000, 000& 100,000
OAGHE o= (B3 A 13MA)
300,000, 000& 300,000
OMERSHE A= Z2LIHE 150,000, 000& 150,000
OMEA W LI A 100,000, 000& 100,000
OFEH 189 2 HulAg('18d 282 700
S OrRl) 700,000,000& 700,000
03 A& =2 THHI 8,640 9,540 A 900
COotERANE =+ 2,400,000,000& *0.36% 8,640
ACHEFEY (ME)(HEAY) 3,480,372 10,231,000 26,750,628
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OL0HE (EE2H) HUlAL 200,000, 000& 200,000
OLoHE (0t &) HUIAY 200,000,000 200,000
03 Al 2 THHI 9,372 31,196 N21,824
OLGHEEH AES0HI
3,471,000,000& %0.27% 9,372
StERXZel(E2X) 232,000 98,000 134,000
= 116,000
Al 116,000
401 Al H L 2T 232,000 98,000 134,000
= 116,000
Al 116,000
01 A& HI 230,330 97,118 133,212
OXgstse |FX2=+ 232,000,000 *99.28% 230,330
= 115,165
Al 115,165
03 Al S THHI 1,670 882 788
OX&otd RAE= 232,000,000& *0.7195% 1,670
= 835
Al 835
26t RAESAL(EX) 560,000 465,000 95,000
= 560,000
101 @124l 28,000 10,000 18,000
= 28,000
04 JI2ZtHZ22HEaE =+ 28,000 10,000 18,000
O3Jtotd SFNE> 2ARY 28,000,000& 28,000
= 28,000
201 ¢4l 17,000 15,400 1,600
= 17,000
01 ArR2t2lHl 7,000 7,000 0
O=)15td 29 7,000,000& 7,000
= 7,000
02 2324l 10,000 8,400 1,600
OZ2Z22SLAA 3,000,000 3,000
= 3,000
OAEZHI S 3,000,000& 3,000
= 3,000
O X+ & B 4,000,000& 4,000
= 4,000
401 A& HIZ 201 I 515,000 439,600 75,400
= 515,000
01 A& HI 511,755 436,435 75,320
O=)15td X2+ 515,000,000 «99.3699% 511,755
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= 511,755
03 AlE 201 | 3,245 3,165 80
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= 3,245
Nt EH (2L )(HEAH)(BEX) 4,000,000 5,839,000 A 1,839,000
< 2,800,000
Al 1,200,000
401 Al HI L £ 0HHI 4,000,000 5,839,000 A 1,839,000
< 2,800,000
Al 1,200,000
01 Al& H| 3,989,200 5,824,402 A 1,835,202
OS2 (SHXR) ot HHAMY
4,000,000,000& x99 .73% 3,989,200
= 2,792,440
Al 1,196,760
03 AlIEE2HH] 10,800 14,598 N 3,798
OS2 (SHXR) ot AU AMY
4,000,000,000& %0.27% 10,800
=} 7,560
Al 3,240
MEess(otdsZ) 421,515 426, 166 A4 651
HEHH XIS (S TH ) 421,515 426, 166 A4 651
LHEHH XIS (CHE THLHDH) 421,515 426, 166 N4, 651
702 12852 421,515 426, 166 N4,651
o1 01282 421,515 426, 166 N4, 651
Ot II2 852 421,515,000 421,515
SHEM A AH|(CHE THLH D) 59,280 54,660 4,620
Jl22Z 8 (A THLHDH) 59,280 54,660 4,620
Jl 23| (HETH D) 59,280 54,660 4,620
201 LBt | 28,680 28,860 A 180
01 AP 22| d| 28,680 28,860 A 180
O2g4+¢ 28,680
0 MLtataEtal ARG 60,0003 «113Y »1H 6,780
o MUMEA =A4G 60,000 *365 x1H 21,900
202 044l 26,400 21,600 4,800
01 2L Y| 26,400 21,600 4,800
OSE =20 100,000& 222 x12& 26,400
203 Q@ =T H| 4,200 4,200 0
04 FEASHEYFFEH| 4,200 4,200 0
[ DRl FShUR=gni 350,000 x12& 4,200




